il
W
St
%
I

1. TE4
THE4 EE 1 54 S Ut X e s T
T4 B) B AR T T 5 KA = T 5
) AR AR T T XA AS T i S
2. THEHNE
1)  HEI4 FAERE R AT EHEE 5
2) £ I & LT H
3) T i 174 H [ H SF0 T4 4A10H
= SFn T 9H30H
4) TEyE

SR s KR S W )




TR

%
T

THE4 | EE 1 SIS I ERE T

TSy « TfE - FER B {7 ¥ & & # A bl A iR
B A& =X 1 105, 109, 875
LT 2 1 96, 921, 633
EHEEFTHR % T (KD =X 1 66, 595, 161 | AHLERK BT 220 m

TATTIMEEERR S2EE 15em% 48 2. 30emEL T ;

EhAE AR AR 3, 050 m2
TA77VMERZEIR &f2EARIE 15em% 8 2 35emL T ;
A S T

e 732 m3
TA7 7V bk (HRHE)

By 732 m3
TA7 7 (RED

AR H 3, 050 m2
PRHIES 80cm ; FHiAZ T,

T wb AT 1 X
0 CaBl- EHIRY £5Te) ;

¥ 2Ly 1 X

REEFEIE 3, 050 m2
fHEMIEL ;

T AR 3, 050 m2
BAITyv477 RC-30 11V JE 400mm ;

e 3, 050 m2
AR SR RM-30 48 Y R 400mm ;

e 3, 050 m2
HAASZ ERLFR (25) {1 BV E 90mm 3. OmiR ; 7
TIfha-METe

= 3, 050 m2
BB EASIR A (20) &HZE/E 50mm 3. Omid
s yra-baE e

] 3, 050 m2
AR EEAST V-8 T (20) DS=3000 At
J& 50mm 3. 0mi& ; #yra-tEde

KJE 3, 050 m2

-1- SR ST KR S W )




PR AR E

T
Psi

THE4 | EE 1 SIS I ERE T

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

BERIEEASE Vv T (20) DS=5000 &HAEE 5
Omm 3. Omid ; 4y/2-}E e

EIHIA-N = T () X 1 30, 326, 472 | &hEERR BT 20 m
TAT7VMEREERR &35 15emBL T

BIEIA-N A 5, 000 m2
TemZ #8 2 12emPA N FFAHURIEE AsH ) v—2E 1T
U (20) t=50mm FERiEEAsH v TR (20) t=
50mm ; BEAMFEIA By )a-bETe

s (R B A 500 m3
TA77 b CEIHEND

By 500 m3
TA77 b CBIHEND

X R T = 1 4,109, 442

iR L (&) =X 1 4,109, 442 r“"’ﬂTl: hi 1,380 m
R TE) 928 15em JE 1. Smm HEKPE S 2E
Eé
r‘ﬁﬁﬂ: hi 270 m
R TE) 928 30cm JE 1. Smm HEAKME LS I
Eé
r‘ﬁﬁﬂ: hi 850 m
R TE) AR 15em JE 1. Smm HEKPE S 2E I
Eé
r‘ﬁﬁﬂ: hi 370 m
WRCTFED v 777 15em JE1. bmm HEAK M A LE HE
H
r‘ﬁﬁﬂ: hi 15 m
WRCTFED v 777 30cm JE1. Smm HEAK M A LE HE
H
(ﬁmﬁTE hi 1,220 m
WRCTFE) v 777 45em JE1. mm HEAK M A LE HE
H
r‘ﬁﬁﬂ: hi 860 m
VRETFB) - 507 - 305~ 15em#fa % JF 1. Smm

-2 - SR ST KR S W )

[H]




oY ol SN
FEAENGRE
T4 | FiE 1 5REE XS SR TF
TEHX4y « Tfd - FER B Az W B & HH i il A R
PEAKPESRE®E [
T =X T R 190 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
L
A Y 1 4,078, 800
AEEHE T Y 1 4,078,800 | A2k ELiE B 1 =
W ;
[ERAE Xy = 1 105, 109, 875
IR 2 1 16, 402, 920
Hom it = 1 2,363, 920
TERE 2 1 146, 120 | R A e 1 =
; ER R OEEFE T
HeffrE sy = 1 98, 800 | 1H & fiti i Fe AT —FVERK E 1 =
A [EE WS R SRRT T I B G E 1 X
BGRESGESE (5 L) = 1 2, 119, 000
B (FEHL) = 1 14, 039, 000
T = 1 121,512, 795
Bl gy 2 1 35, 513, 000
T =5l = 1 157, 025, 795
— R A 2 1 23, 814, 205
e 2 1 470, 000
TS 2 1 181, 310, 000

-3 - SR ST KR S W )




